# CITY OF APPLETON Department of Public Works

# **MEMORANDUM**

Mu	ance Committee nicipal Services Con ities Committee l of Contract	nmittee	
The Department o Unit H-21 Redunda		mmends that the follo	wing described work:
Olit II 21 Reddiidd	in raw water Line		
Be awarded to:  Name:	PTS Contractors Inc		
Address:	4075 Eaton Road		
	Green Bay, WI 543	11	
In the amount of :		\$4,875,000.00	
With a 10.3%	contingency of :	\$500,000.00	
For a project total	not to exceed:	\$5,375,000.00	
** OR **			
In an amount Not	To Exceed:		
Buo	dget: \$8,28	30,000.00	
Estin	nate: \$6,50	00,000.00	
	-	05/23/22	
Council I	Date:	06/01/22	

## Bid Tabulation H-21 Redundant Raw Water Line

OE /	116	/2022	01:45	DM	CDT
UD/	TO	ZUZZ	U1:45	PIVI	CDI

Bid	Ham Description	0	11	PTS Contr	actors, Inc	Advance Con	struction Inc.
Item	Item Description	Quantity	Unit	Unit Price	Item Total	Unit Price	Item Total
1	Furnish & Install 56" (i.d.) Steel Casing (Tunneled)	100	LF	\$3,025.00	\$302,500.00	\$2,400.00	\$240,000.00
2	Furnish & Install 36" Water Main	7655	LF	\$415.00	\$3,176,825.00	\$452.00	\$3,460,060.00
3	Furnish & Install 10" Water Main	35	LF	\$225.00	\$7,875.00	\$222.00	\$7,770.00
4	Furnish & Install 8" Water Main	40	LF	\$207.00	\$8,280.00	\$204.00	\$8,160.00
5	Furnish & Install 36" Butterfly Valve w/box	6	EA	\$38,000.00	\$228,000.00	\$38,340.00	\$230,040.00
6	Furnish & Install 42" dia., 90 degree bend	1	EA	\$14,500.00	\$14,500.00	\$12,488.00	\$12,488.00
7	Furnish & Install 36" dia., 90 degree bend	5	EA	\$11,500.00	\$57,500.00	\$9,608.00	\$48,040.00
8	Furnish & Install 36" dia., 45 degree bend	12	EA	\$8,400.00	\$100,800.00	\$6,865.00	\$82,380.00
9	Furnish & Install 36" dia., 22.5 degree bend	2	EA	\$7,100.00	\$14,200.00	\$5,597.00	\$11,194.00
10	Furnish & Install 36" dia., 11.25 degree bend	1	EA	\$7,100.00	\$7,100.00	\$5,597.00	\$5,597.00
11	Furnish & Install 10" , 45 degree bend	12	EA	\$800.00	\$9,600.00	\$782.00	\$9,384.00
12	Furnish & Install 8" , 45 degree bend	12	EA	\$540.00	\$6,480.00	\$515.00	\$6,180.00
13	Furnish & Install 4" - 45 degree bends	4	EA	\$320.00	\$1,280.00	\$268.00	\$1,072.00
14	Furnish & Install 36" x 36" Tee	5	EA	\$10,500.00	\$52,500.00	\$7,069.00	\$35,345.00
15	Furnish & Install 36" x 6" Tee	2	EA	\$9,300.00	\$18,600.00	\$6,569.00	\$13,138.00
16	Furnish & Install 42" Cap	2	EA	\$8,900.00	\$17,800.00	\$11,032.00	\$22,064.00
17	Furnish & Install 36" Cap	2	EA	\$16,200.00	\$32,400.00	\$10,500.00	\$21,000.00
18	Furnish & Install 42"/36" Reducer	2	EA	\$12,000.00	\$24,000.00	\$9,394.00	\$18,788.00
19	Connection to existing 42" PCCP water main	1	EA	\$38,000.00	\$38,000.00	\$11,727.00	\$11,727.00
20	Furnish & Install 6" Hydrant Lead	85	LF	\$150.00	\$12,750.00	\$93.00	\$7,905.00
21	Furnish & Install Hydrant	5	EA	\$5,525.00	\$27,625.00	\$5,697.00	\$28,485.00
22	Furnish & Install 6" Gate Valve w/box	5	EA	\$1,830.00	\$9,150.00	\$1,786.00	\$8,930.00
23	Furnish & Install 8" Gate Valve w/box	1	EA	\$2,520.00	\$2,520.00	\$2,471.00	\$2,471.00
24	Furnish & Install 4' Standard MH/casting	1	EA	\$7,600.00	\$7,600.00	\$4,600.00	\$4,600.00
25	Furnish & Install Tracer Wire Valve Box Assembly	11	EA	\$525.00	\$5,775.00	\$450.00	\$4,950.00
26	Hydrant/Valve Removal - Natures Way	3	EA	\$1,060.00	\$3,180.00	\$3,000.00	\$9,000.00
27	Furnish & Install 4" Water Lateral	10	LF	\$138.00	\$1,380.00	\$93.00	\$930.00
28	Adjust Existing Water Service, size 2" or less	11	EA	\$900.00	\$9,900.00	\$800.00	\$8,800.00
29	Furnish & Install 4"/6" Sanitary Lateral	120	LF	\$200.00	\$24,000.00	\$89.00	\$10,680.00
30	Furnish & Install 4"/6" Sanitary 45 deg bend	22	EA	\$77.00	\$1,694.00	\$30.00	\$660.00
31	Remove & Replace Inlet, Reset casting	1	EA	\$1,700.00	\$1,700.00	\$2,500.00	\$2,500.00
32	Remove & Replace 30" Curb & Gutter	50	LF	\$54.00	\$2,700.00	\$52.00	\$2,600.00
33	Furnish & Install "D-M" Inlet Protection	44	EA	\$100.00	\$4,400.00	\$95.00	\$4,180.00
34	Furnish & Install Erosion Control Mat - Class I, Urban Type "A"	3500	SY	\$5.00	\$17,500.00	\$8.75	\$30,625.00
35	Furnish & Install Erosion Control Mat - Class II, Type "C" Organic	800	SY	\$8.25	\$6,600.00	\$11.80	\$9,440.00
36	Furnish, Install, & Maintain Amphibian Silt Fencing	3000	LF	\$2.00	\$6,000.00	\$1.95	\$5,850.00
37	Furnish, Install, & Maintain Silt Fencing	1600	LF	\$2.00	\$3,200.00	\$1.95	\$3,120.00
38	Furnish, Install, & Maintain 12" dia. Sediment Log - Class II	200	LF	\$9.50	\$1,900.00	\$9.00	\$1,800.00
39	Furnish & Maintain Dewatering	1	LS	\$80,091.00	\$80,091.00	\$50,000.00	\$50,000.00
40	Furnish & Install Tracking Pad	2	EA	\$1,720.00	\$3,440.00	\$2,000.00	\$4,000.00
41	Remove & Replace 9" Concrete Pavement (3 day HE)	1800	SY	\$86.00	\$154,800.00	\$84.17	\$151,506.00
42	Remove & Replace 4" HMA Asphalt	8100	SY	\$32.00	\$259,200.00	\$33.65	\$272,565.00
43	Sawcutting	21100	LF	\$3.00	\$63,300.00	\$2.50	\$52,750.00
44	Pavt Marking Epoxy, 4"	4200	LF	\$1.00	\$4,200.00	\$1.40	\$5,880.00
45	Pavt Marking Epoxy, 6"	50	LF	\$17.00	\$850.00	\$20.00	\$1,000.00
	Pavt Marking Epoxy, 18"	15	LF	\$19.00	\$285.00	\$19.00	\$285.00
47	Pavt Marking Epoxy, Symbols	6	EA	\$320.00	\$1,920.00	\$350.00	\$2,100.00
48	Canadian National Insurance, Permitting, & Training	1	LS	\$1,800.00	\$1,800.00	\$20,000.00	\$20,000.00
49	Furnish & Maintain Traffic Control - Phase 1	1	LS	\$3,400.00	\$3,400.00	\$7,400.00	\$7,400.00
50	Furnish & Maintain Traffic Control - Phase 2	1	LS	\$4,750.00	\$4,750.00	\$4,400.00	\$4,400.00
51	Furnish & Maintain Traffic Control - Phase 3	1	LS	\$4,750.00	\$4,750.00	\$4,800.00	\$4,800.00
52	Furnish & Maintain Traffic Control - Phase 4	1	LS	\$5,200.00	\$5,200.00	\$7,200.00	\$7,200.00
53	Furnish & Maintain Traffic Control - Phase 5	1	LS	\$3,700.00	\$3,700.00	\$4,800.00	\$4,800.00
54	Furnish & Maintain Traffic Control - Phase A	1	LS	\$4,200.00	\$4,200.00	\$2,500.00	\$2,500.00
55	Furnish & Maintain Traffic Control - Phase B	1	LS	\$3,100.00	\$3,100.00	\$1,800.00	\$1,800.00
56	Furnish & Maintain Traffic Control - Phase C	1	LS	\$5,800.00	\$5,800.00	\$4,200.00	\$4,200.00
57	Removal of Contaminated Soil	100	CY	\$24.00	\$2,400.00	\$7.00	\$700.00

Base Bid Total: \$4,875,000.00 \$4,989,839.00

### Bid Tabulation H-21 Redundant Raw Water Line 05/16/2022 01:45 PM CDT

Bid	Bid L. Bourland			Vinton Construction Company		Superior Sewer and Water inc.	
Item	Item Description	Quantity	Unit	Unit Price	Item Total	Unit Price	Item Total
1	Furnish & Install 56" (i.d.) Steel Casing (Tunneled)	100	LF	\$2,682.00	\$268,200.00	\$3,139.00	\$313,900.00
2	Furnish & Install 36" Water Main	7655	LF	\$436.00	\$3,337,580.00	\$471.25	\$3,607,418.75
3	Furnish & Install 10" Water Main	35	LF	\$196.00	\$6,860.00	\$135.00	\$4,725.00
4	Furnish & Install 8" Water Main	40	LF	\$157.00	\$6,280.00	\$122.00	\$4,880.00
	Furnish & Install 36" Butterfly Valve w/box	6	EA	\$38,226.00	\$229,356.00	\$25,600.00	\$153,600.00
6	Furnish & Install 42" dia., 90 degree bend	1	EA	\$14,403.00	\$14,403.00	\$30,400.00	\$30,400.00
7	Furnish & Install 36" dia., 90 degree bend	5	EA	\$15,278.00	\$76,390.00	\$20,700.00	\$103,500.00
	Furnish & Install 36" dia., 45 degree bend	12	EA	\$9,788.00	\$117,456.00	\$15,900.00	\$190,800.00
-	Furnish & Install 36" dia., 22.5 degree bend	2	EA EA	\$8,840.00	\$17,680.00	\$14,300.00	\$28,600.00
	Furnish & Install 36" dia., 11.25 degree bend Furnish & Install 10" , 45 degree bend	12	EA	\$1,433.00	\$6,626.00 \$17,196.00	\$13,000.00 \$915.00	\$13,000.00 \$10,980.00
	Furnish & Install 8" , 45 degree bend	12	EA	\$1,433.00	\$17,130.00	\$650.00	\$7,800.00
	Furnish & Install 4" - 45 degree bends	4	EA	\$960.00	\$3,840.00	\$440.00	\$1,760.00
14	Furnish & Install 36" x 36" Tee	5	EA	\$20,888.00	\$104,440.00	\$17,600.00	\$88,000.00
	Furnish & Install 36" x 6" Tee	2	EA	\$17,070.00	\$34,140.00	\$15,100.00	\$30,200.00
	Furnish & Install 42" Cap	2	EA	\$11,747.00	\$23,494.00	\$13,200.00	\$26,400.00
17	Furnish & Install 36" Cap	2	EA	\$8,232.00	\$16,464.00	\$8,605.00	\$17,210.00
18	Furnish & Install 42"/36" Reducer	2	EA	\$34,335.00	\$68,670.00	\$32,900.00	\$65,800.00
19	Connection to existing 42" PCCP water main	1	EA	\$19,757.00	\$19,757.00	\$17,500.00	\$17,500.00
20	Furnish & Install 6" Hydrant Lead	85	LF	\$97.00	\$8,245.00	\$50.00	\$4,250.00
21	Furnish & Install Hydrant	5	EA	\$5,547.00	\$27,735.00	\$4,900.00	\$24,500.00
22	Furnish & Install 6" Gate Valve w/box	5	EA	\$1,938.00	\$9,690.00	\$1,900.00	\$9,500.00
	Furnish & Install 8" Gate Valve w/box	1	EA	\$2,692.00	\$2,692.00	\$2,600.00	\$2,600.00
	Furnish & Install 4' Standard MH/casting	1	EA	\$6,422.00	\$6,422.00	\$3,000.00	\$3,000.00
	Furnish & Install Tracer Wire Valve Box Assembly	11	EA	\$712.00	\$7,832.00	\$800.00	\$8,800.00
26	Hydrant/Valve Removal - Natures Way	3	EA	\$2,110.00	\$6,330.00	\$1,300.00	\$3,900.00
27	Furnish & Install 4" Water Lateral	10	LF	\$155.00	\$1,550.00	\$50.00	\$500.00
28 29	Adjust Existing Water Service, size 2" or less Furnish & Install 4"/6" Sanitary Lateral	11 120	EA LF	\$4,315.00 \$170.00	\$47,465.00 \$20,400.00	\$1,700.00 \$50.00	\$18,700.00 \$6,000.00
	Furnish & Install 4"/6" Sanitary 45 deg bend	22	EA	\$58.00	\$1,276.00	\$50.00	\$1,100.00
	Remove & Replace Inlet, Reset casting	1	EA	\$2,838.00	\$2,838.00	\$325.00	\$325.00
32	Remove & Replace 30" Curb & Gutter	50	LF	\$45.00	\$2,250.00	\$49.00	\$2,450.00
33	Furnish & Install "D-M" Inlet Protection	44	EA	\$130.00	\$5,720.00	\$90.00	\$3,960.00
	Furnish & Install Erosion Control Mat - Class I, Urban Type "A"	3500	SY	\$10.00	\$35,000.00	\$4.85	\$16,975.00
	Furnish & Install Erosion Control Mat - Class II, Type "C" Organic	800	SY	\$12.75	\$10,200.00	\$7.95	\$6,360.00
36	Furnish, Install, & Maintain Amphibian Silt Fencing	3000	LF	\$2.25	\$6,750.00	\$2.00	\$6,000.00
37	Furnish, Install, & Maintain Silt Fencing	1600	LF	\$2.00	\$3,200.00	\$2.00	\$3,200.00
38	Furnish, Install, & Maintain 12" dia. Sediment Log - Class II	200	LF	\$10.00	\$2,000.00	\$9.00	\$1,800.00
39	Furnish & Maintain Dewatering	1	LS	\$97,000.00	\$97,000.00	\$14,014.00	\$14,014.00
	Furnish & Install Tracking Pad	2	EA	\$2,500.00	\$5,000.00	\$800.00	\$1,600.00
	Remove & Replace 9" Concrete Pavement (3 day HE)	1800	SY	\$89.15	\$160,470.00	\$89.00	\$160,200.00
42	Remove & Replace 4" HMA Asphalt	8100	SY	\$31.18	\$252,558.00	\$29.41	\$238,221.00
	Sawcutting	21100	LF	\$2.50	\$52,750.00	\$2.40	\$50,640.00
	Pavt Marking Epoxy, 4"	4200	LF	\$5.25	\$22,050.00	\$1.00	\$4,200.00
	Pavt Marking Epoxy, 6"	50	LF	\$7.95	\$397.50	\$16.00	\$800.00
	Pavt Marking Epoxy, 18" Pavt Marking Epoxy, Symbols	15	LF	\$22.95	\$344.25	\$18.00	\$270.00
47 48	Canadian National Insurance, Permitting, & Training	6 1	EA LS	\$195.00 \$59,100.00	\$1,170.00 \$59,100.00	\$300.00 \$7,357.00	\$1,800.00
49	Furnish & Maintain Traffic Control - Phase 1	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$7,357.00 \$4,200.00
50	Furnish & Maintain Traffic Control - Phase 2	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00
	Furnish & Maintain Traffic Control - Phase 3	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00
52	Furnish & Maintain Traffic Control - Phase 4	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00
	Furnish & Maintain Traffic Control - Phase 5	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00
54	Furnish & Maintain Traffic Control - Phase A	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00
	Furnish & Maintain Traffic Control - Phase B	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00
	Furnish & Maintain Traffic Control - Phase C	1	LS	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00
57	Removal of Contaminated Soil	100	CY	\$20.00	\$2,000.00	\$50.92	\$5,092.00

Base Bid Total: \$5,271,378.75 \$5,358,187.75

### Bid Tabulation H-21 Redundant Raw Water Line 05/16/2022 01:45 PM CDT

Bid	Item Description	Quantity	Hnit	Dorner Inc.		Kruczek Construction Inc.	
Item	item Description		Unit	Unit Price	Item Total	Unit Price	Item Total
1	Furnish & Install 56" (i.d.) Steel Casing (Tunneled)	100	LF	\$2,664.00	\$266,400.00	\$1,500.00	\$150,000.00
2	Furnish & Install 36" Water Main	7655	LF	\$485.00	\$3,712,675.00	\$665.00	\$5,090,575.00
3	Furnish & Install 10" Water Main	35	LF	\$278.00	\$9,730.00	\$370.00	\$12,950.00
4	Furnish & Install 8" Water Main	40	LF	\$259.00	\$10,360.00	\$335.00	\$13,400.00
5	Furnish & Install 36" Butterfly Valve w/box	6	EA	\$42,728.00	\$256,368.00	\$46,500.00	\$279,000.00
6	Furnish & Install 42" dia., 90 degree bend	1	EA	\$14,014.00	\$14,014.00	\$17,500.00	\$17,500.00
7	Furnish & Install 36" dia., 90 degree bend	5	EA	\$10,484.00	\$52,420.00	\$19,000.00	\$95,000.00
8	Furnish & Install 36" dia., 45 degree bend	12	EA	\$7,207.00	\$86,484.00	\$23,000.00	\$276,000.00
9	Furnish & Install 36" dia., 22.5 degree bend	2	EA	\$5,693.00	\$11,386.00	\$12,500.00	\$25,000.00
10	Furnish & Install 36" dia., 11.25 degree bend	1	EA	\$5,693.00	\$5,693.00	\$12,500.00	\$12,500.00
11	Furnish & Install 10" , 45 degree bend	12	EA	\$934.00	\$11,208.00	\$1,500.00	\$18,000.00
12	Furnish & Install 8" , 45 degree bend	12	EA	\$618.00	\$7,416.00	\$1,200.00	\$14,400.00
13	Furnish & Install 4" - 45 degree bends	4	EA	\$347.00	\$1,388.00	\$600.00	\$2,400.00
14	Furnish & Install 36" x 36" Tee	5	EA	\$6,693.00	\$33,465.00	\$15,000.00	\$75,000.00
15	Furnish & Install 36" x 6" Tee	2	EA	\$6,374.00	\$12,748.00	\$12,000.00	\$24,000.00
16	Furnish & Install 42" Cap	2	EA	\$8,261.00	\$16,522.00	\$17,500.00	\$35,000.00
17	Furnish & Install 36" Cap	2	EA	\$8,197.00	\$16,394.00	\$17,400.00	\$34,800.00
18	Furnish & Install 42"/36" Reducer	2	EA	\$8,479.00	\$16,958.00	\$14,000.00	\$28,000.00
19	Connection to existing 42" PCCP water main	1 05	EA	\$13,392.00	\$13,392.00	\$22,000.00 \$160.00	\$22,000.00
20 21	Furnish & Install 6" Hydrant Lead Furnish & Install Hydrant	85 5	LF EA	\$148.00 \$6,369.00	\$12,580.00 \$31,845.00	\$6,500.00	\$13,600.00 \$32,500.00
22	Furnish & Install 6" Gate Valve w/box	5	EA	\$2,031.00	\$10,155.00	\$2,000.00	\$10,000.00
23	Furnish & Install 8" Gate Valve w/box	1	EA	\$2,818.00	\$10,155.00	\$3,000.00	\$3,000.00
24	Furnish & Install 4' Standard MH/casting	1	EA	\$6,787.00	\$6,787.00	\$7,500.00	\$7,500.00
25	Furnish & Install Tracer Wire Valve Box Assembly	11	EA	\$537.00	\$5,907.00	\$675.00	\$7,425.00
26	Hydrant/Valve Removal - Natures Way	3	EA	\$1,602.00	\$4,806.00	\$13,900.00	\$41,700.00
27	Furnish & Install 4" Water Lateral	10	LF	\$1,002.00	\$1,650.00	\$300.00	\$3,000.00
28	Adjust Existing Water Service, size 2" or less	11	EA	\$1,541.00	\$16,951.00	\$1,225.00	\$13,475.00
29	Furnish & Install 4"/6" Sanitary Lateral	120	LF	\$152.00	\$18,240.00	\$145.00	\$17,400.00
30	Furnish & Install 4"/6" Sanitary 45 deg bend	22	EA	\$134.00	\$2,948.00	\$125.00	\$2,750.00
31	Remove & Replace Inlet, Reset casting	1	EA	\$1,393.00	\$1,393.00	\$3,400.00	\$3,400.00
32	Remove & Replace 30" Curb & Gutter	50	LF	\$48.40	\$2,420.00	\$82.00	\$4,100.00
33	Furnish & Install "D-M" Inlet Protection	44	EA	\$140.00	\$6,160.00	\$100.00	\$4,400.00
	Furnish & Install Erosion Control Mat - Class I, Urban Type "A"	3500	SY	\$10.80	\$37,800.00	\$4.00	\$14,000.00
	Furnish & Install Erosion Control Mat - Class II, Type "C" Organic	800	SY	\$13.70	\$10,960.00	\$5.75	\$4,600.00
	Furnish, Install, & Maintain Amphibian Silt Fencing	3000	LF	\$2.40	\$7,200.00	\$2.00	\$6,000.00
37	Furnish, Install, & Maintain Silt Fencing	1600	LF	\$2.20	\$3,520.00	\$2.00	\$3,200.00
38	Furnish, Install, & Maintain 12" dia. Sediment Log - Class II	200	LF	\$10.80	\$2,160.00	\$10.00	\$2,000.00
39	Furnish & Maintain Dewatering	1	LS	\$244,125.00	\$244,125.00	\$900,000.00	\$900,000.00
40	Furnish & Install Tracking Pad	2	EA	\$1,291.50	\$2,583.00	\$1,500.00	\$3,000.00
41	Remove & Replace 9" Concrete Pavement (3 day HE)	1800	SY	\$85.20	\$153,360.00	\$115.00	\$207,000.00
42	Remove & Replace 4" HMA Asphalt	8100	SY	\$30.10	\$243,810.00	\$23.50	\$190,350.00
43	Sawcutting	21100	LF	\$2.40	\$50,640.00	\$3.50	\$73,850.00
44	Pavt Marking Epoxy, 4"	4200	LF	\$1.10	\$4,620.00	\$0.25	\$1,050.00
45	Pavt Marking Epoxy, 6"	50	LF	\$17.20	\$860.00	\$10.00	\$500.00
46	Pavt Marking Epoxy, 18"	15	LF	\$19.40	\$291.00	\$125.00	\$1,875.00
47	Pavt Marking Epoxy, Symbols	6	EA	\$323.00	\$1,938.00	\$200.00	\$1,200.00
48	Canadian National Insurance, Permitting, & Training	1	LS	\$6,615.00	\$6,615.00	\$31,577.77	\$31,577.77
49	Furnish & Maintain Traffic Control - Phase 1	1	LS	\$3,444.00	\$3,444.00	\$7,500.00	\$7,500.00
50	Furnish & Maintain Traffic Control - Phase 2	1	LS	\$4,843.00	\$4,843.00	\$4,500.00	\$4,500.00
51	Furnish & Maintain Traffic Control - Phase 3	1	LS	\$4,843.00	\$4,843.00	\$5,000.00	\$5,000.00
52	Furnish & Maintain Traffic Control - Phase 4	1	LS	\$5,327.00	\$5,327.00	\$7,300.00	\$7,300.00
53	Furnish & Maintain Traffic Control - Phase 5	1	LS	\$2,744.00	\$2,744.00	\$5,000.00	\$5,000.00
54	Furnish & Maintain Traffic Control - Phase A	1	LS	\$4,251.00	\$4,251.00	\$2,500.00	\$2,500.00
55	Furnish & Maintain Traffic Control - Phase B	1	LS	\$3,175.00	\$3,175.00	\$1,800.00	\$1,800.00
56	Furnish & Maintain Traffic Control - Phase C	1	LS	\$5,946.00	\$5,946.00	\$4,200.00	\$4,200.00
57	Removal of Contaminated Soil	100	CY	\$35.00	\$3,500.00	\$100.00	\$10,000.00

Base Bid Total: \$5,488,236.00 \$7,877,777.77